ORA18H MEEES7IH IHEEE

(BNERERE) (B4 EEFERES) HhBX (O - F7 )11 - IR - 5 L - 4 - B4 B 2)
O 4 B M| EPR| B M4 A M| =P E O 4 R | M| =P R B4 B MR G
XEA 66 | 82 | 148 | |fE2iE 9 | 20 | 29 £ KER3 2 2 BT 1 1
ZEEE 14 | 15 | 29 =BA 15 | 11| 26 L Z1E 2 2 XEES 1 1
FRIK 6 6 | 12 A 13| 8 | 21 XERE 2 2 Er=i=-14 1 1
AL S 2 2 4 EEZEA 8 6 | 14 Lk 2 2 i YRES 1 1
TEE ik 1 3 4 g5 R H5 7 4 | 11 HEAX 2 2 x5 1 1
BRER 1 2 3 HEMK 3 4 7 BEXX 1 1 2 FBE 1 1
F£AE 1 1 2 EAETE 2 5 7 A% 1 1 2 e 1 1
% 2 2 T&R 2 5 7 EEs 1 1 2 IERBF 1 1
Wtk 1 1 BB 5 1 6 HBSHIE 1 1 2 BEEBA 1 1
FEE 1 1 SRAER 1 4 | 5 REA 2 | 2 F2E 1 1
FRIE 1 1 XEREE 5 5 HREE 3} 2 2 AEL 1 1
A= 1 1 XEEF 3 1 4 Z1E165M9 1 1 HEA 1 1
INET 93 | 115 | 208 | |ZB2E 1 2 3 EEE 1 1

EEH 3 3 EEH 1 1 it 90 | 99 | 189

BEE 3 3 EBESE 1 1 HEt 183 | 214 | 397




OR19H MEEES7IH IHEEEL

(RN EERS) (B4 EEFERES) HOBK (B K- =R - UV - R B - HH)
o4 R U |ER G A~ o4 s | M| ER B B4 B MR G
XEA 65 | 80 | 145 | |fB2iE 13| 13 | 26 fE%E 2 1 3 BERE 1 1
ZEEE 16 | 11 | 27 =BA 15| 8 | 23 ERAER 2 1 3 3 IES 1 1
FRIK 1 5 6 A 5 | 10 | 15 BEXX 1 2 3 XEREE 1 1
AL S 4 1 5 EIETE 5 5 | 10 ERER 1 2 3 EE+H 1 1
F£AE 1 1 2 EEEA 4 | 4| 8 SEfCHE 1 2 | 3 okl 1 1
AR 1 1 2 BZE 4 3 7 =B 1 1 2 R 1 1
TEE ik 1 1 HEMK 3 4 7 LX S 1 1 2 F17EE 1 1
FEE 1 1 TE&HR 2 5 7 BEF B 2 | 2 HMEA 1 1
IFEA 1 1 EiES 3 3 6 XERE 2 2 HESHIE 1 1
BEA777 1 1 SR 4%5 3 1 4 xE 1 1 T K1E 1 1
INET 91 | 100 | 191 | |EBA 3| 1| 4| |HE75 1 1 tER T 1

XEEF 2 2 4 ZEA 1 1 EEE 1 1

=Pl 2 2 4 7% 15 BA 1 1
i YRES 1 3 4 FERE 1 1 it 86 | 87 | 173
TEEE 3 3 = 1 1 HEt 177 | 187 | 364




9OH20H MEEESAH IHEEE

(BNERERE) (B4 EEFERES) HR(FE->T-HEYD-IE)
O 4 B M| EPR| B A~ O 4 R | M| =P R B4 B MR G
XEA 56 | 60 | 116 | |BEEA 13| 13 | 26 W2 1E 2 1 3 =1y 1 1
ZEEE 11| 8 | 19 Bz 13| 12| 25 EBA 1 2 | 3 foxE 1 1
FRIK 4 2 6 fB2iE 7 | 13| 20 B ER 1 2 3 ERE 1 1
TEE ik 2 2 HEMK 5 5 | 10 EE# 1 2 3 BH1 1 1
725 53 2 | 2 EEEA 6 | 3| 9 L Er] 2 2 B 4 1 1
BEE 1 1 EIETE 4 4 8 xE 2 2 XEREE 1 1
Wtk 1 1 i YRES 4 3 7 TEIEE 1 1 2 fREE 1 1
AL S 1 1 T&R 4 2 6 EEH 2 2 Wik 1 1
INET 72 | 76 | 148 | |BEE#%5 3 3 6 RREA 2 %= 1 1

FRAER 2 4 6 B&RE2 1 1

EZE 2 3 5 XEeE 1 1

BAERE 1 3 4 SKEE=E 1 1 S 80 | 91 | 171

BEE 1 3 4 %= 1 1 =1 152 | 167 | 319




